No.1

SH7EE BARSEFRFAOD—(VIKRE

-y J)IL—4 EIEl -wa1s 500m LAP 1000m LAP e
BFUTILRAIL 1 | BFEERKC < B > 5 6i59i13 | 2i16i93 | 4i37:i31
2 | BREERB < B > 4 6:31:06| 2:08:43 | 4:18:89
FiEAM 3 | BEERA < —HE O 1 5:46:32 | 1:52:74| 3:46i85
9H813H (%) 4 | HEIXRSKA < &Il > 2 6:10:;71 | 2:02:80| 4:04:13
8:30 s | £FhEkE < AL 5| 3| 617.88| 20711 41007 |, &
LAY 1A 6 | BIEEKRD <CHFT > 6 7:11:52 | 2:21:10| 4:41:96
BFUTNLRAIL 1 | BFRESHKRC < EH >| 4 7:27:12 | 2:35:57 | 5i01:i17
2 | EFEERB < INE S| 3 6:35:i27 | 2:08:28| 4:17:34
¥:EB#H 3 | EHEESRKA < @A > 2 6:19i14 | 2:i09:i64 | 4i14:i27
9H813H (%) 4 | EAEKRA CEE DT 6:02i48 | 2:01:i24| 4:01:21
8:38 5 | AEIFXSKB < #BF >|DNS ?ﬁi
EAY 1N g 6
ZFIUTILAAIL 1
2 | EAEK < B&A > 2 6:47:86 | 2:19:56 | 4i34i44
BALNSATIL 3 | EREERA < HF > 1 6i44:95| 2:13:06 | 4i29i34
9H13H (%) 4 | EFEESHKB < K& > 3 6i97i19 | 2i20i09| 4i38:i96 =
8:46 5 1.2m/s
— 6
BFLATILAAIL 1 | EAEHKB 3 5:38:88 | 1:52:32| 3:47:95
2 | EFEER 6 6:08:60| 1:55:54 | 4:02:82
BALNSATIL 3 | EREEK 1 9:21:44 | 1:45:28 | 3:33:46
98138 (%) 4 | EIXESKA 4 95:50:27 | 1:47:45| 3:48:29
8:54 5 | EAEKA 2 | 525116 | 1:43195| 3 36:37 “ﬁ/s
— 6 | MEIXSKB 5] 5:55i87 | 1:57:36 | 3:57:43
TFATILRAIL 1
2
BALNSATIL 3 | EEER 1 6:14:91 1:56:96 [ 4:06:33
98138 (%) 4 | EAEK 2 6:19:68 | 2:04:26 | 4:12:40 .
9:02 5 2.2m/s
— 6
BFRFMAIAELTIL | 1
2 | EFEEK 3 5i33i79 | 1i49:i77| 3i41:i45
BALNSATIL 3 | EAEK 1 4:58i15 | 1i38i12 | 3i17i42
9H13H (L) 4 | EIEEK 2 5:09:i88 | 1:38:i88 | 3:22:02 =
9:10 5 0.7m/s
— 6
TFREFRFIARLTIL 1
2
BALNSATIL 3 | BEEEEK 2 6:13:55| 2:10:83 | 4:13:02
9813H (L) 4 | EAEK 1 5i44:72 | 1:53i48 | 3:49:31
9:18 5 RFER
2.8m/s
— 6




SH7EE BARSEFRFAOD—(VIKRE

No.2

-y J)IL—4 EEl  -wsqks 500m LAP 1000m LAP e
BFUTILRAL 1
No. 2 [ EpgEms < & > 2| 40023 1i56:05 1900
8 |MiEAE 3 | HEIZ£SRA < &Il > 1| 3:50:00| 1:49:92
98138 (1) 4 | BHEEHKB < B > 3| 4111118 2:02i14
11:00 5| EFESKRC < EHB >| 4 | 4:31i33| 2:15:i98 Tof;i;
EMY 2/ng 6
BFIUTNLRAL 1
No. 2 | EmEkc < B | 3 | 42724 2:00:64 1900
9 BeiEBH#E 3 | £5a#B < tush > 1| 3i54i59| 1i55:06
98138 (1) 4 | BHEEHKA <A > 2 | 3i57:74| 1:58i15
11:05 s | EMEKD < B 5| 4| 43121 | 2 13:00 il
EMY 2,ng 6




SH7EE BARSEFRFAOD—(VIKRE

No.3

L—y J)IL—4 =& 220N 500m LAP 1000m LAP | {§#&
BFUTILRAIL 1 | BRESHKA < A > 5 09i26 | 1i59i11 | 4i02:61
No. 2 | HEIXESKRA < &Il > 3 01i82| 1:51:i67 | 3:54:i29
10 | R RS 3 | BEERA < —HE O 1 34:22 | 1:45:i28 | 3:37:i67
98148 (H) 4 | EAEKRA CEE D 2 49:48 | 1:53:17 | 3;51:81
8:30 5 | £AB®KB < Wit >| 4 02i94 | 1:55i92 | 3:!59:21 mﬁ/s
— 6 | HEEE&RB < INE S| 6 19i62 | 2:00:12 | 4:06:84
ZFIUTILAAIL 1
No. 2 | BREERB < X& > 3 54:47 | 2:18:64 | 4:38:41
11 [IRE 3 | EREERA < HF > 1 4365 11:61 | 4:29:20
98148 (H) 4 | EAEK < B&A > 2 45:85 14:74 | 4:30:56 =
8:38 5 1.2m/s
— 6
BFATILRAAIL 1 | HEIXESHEB 5 5i56i23 | 1:58:68 | 3i58:93
No. 2 | EAEKB 3 5i38i59 | 1i53i32| 3i48:07
12 [iRE& 3 | EREEK 1 5i20i10 | 1:43:i58 | 3i32i45
9H14H(H) 4 | EAERKRA 2 512188 | 1i44i69| 3i32i63
8:46 5 | ABTEEHRA 4 | 5:45:30| 1:50:10 | 3:47:77 zﬁ/s
— 6 | BIEERK 6 6:01:i87| 1:57:09| 3i57i74
TFFTILRAIL 1
No. 2
13 iR B 3 | BEEER 2 03:11 56:09 | 4:00:07
9H14H8(H) 4 | EAEK 1 00:80 95944 | 3:59:54 =
8:54 o 1.8m/s
— 6
BFRFMAIAELTIL | 1
No. 2 | EFEEK 3 24 51 41:69 | 3:33:87
14 [iRE& 3 | EAEK 1 52:90 34:67| 3:13:64
9F14H(H) 4 | AEBEIXSK 2 07:07 3442 3:17:73 -
9:02 o 0.4m/s
— 6
TFRF/IARLTIL 1
No. 2
15 | iR Bg 3 | EAEK 1 47:05 5281 | 3i49i33
9R814H(H) 4 | BEREEK 2 1871 11i58 | 4i16:i32 -
9:10 5 1.7m/s
— 6
BFIUTIILRAIL 1
No. 2 | EFESRD < HT > 3 7:07:87| 2:19:36 | 4:43:05
16 |iRf#B 3 | BEFEEHRB < B > 1 6:37:60| 2:07:02| 4:21:05
9814H(H) 4 | BIEEKRC < FfG > 2 7:00:07 | 2:11:27| 4:33:99
9:18 s | EmmmbCc < BE 5| 4 | 72150 | 213202 | 415686 | e
— 6




